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Al A5 37
(3x® = 3x+3)(dx—4)+2 x Sx+ 1 3x+ (1 3x)(x — 4)(2x — 4)
(x+ 5)(dx> —x+ 6)— (x + 6)(5x — 4) (3x — 3)(5x + 5)(4x — 5)
(2x — 2)(% — x+ 4) + (2x — 2)(6x — 4) 2x — (1 + 4x)(x — 1)(6x— 5)
6x— (4 — 4x)(3x — 6)(x + 4) (4x — 1)(6x — 2)(4x — 3)
(2x + 2)(3x% + 5x + 4) — (2x — 1)(5x — 5) (6x+ 5)(x% + 2x + 6) — (5x — 5)(dx + 2)
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AHI: HICE: 237:
(3x2—3x+3)(4x—4)+2><5x+1 3x+ (1 —3x)(x—4)(2x—4)
127 — 2402 + 34x — 11 —6x° + 38x% — 57x + 16
(x+ 5)(4x2 —x+6)—(x+6)(5x—4) Bx—3)(5x+ 5)(4x—5)
43 + 1452 — 25x + 54 60x° — 75%% — 60x + 75
(2x = 2)(x> —x+ 4)+ (2x — 2)(6x — 4) 2x — (1 +4x)(x— 1)(6x— 5)
2 + 8¢ — 10x 2453 + 382 —Tx— 5
6x — (4 —4x)(3x— 6)(x + 4) (4x — 1)(6x — 2)(4x — 3)
125 + 12x% — 114x + 96 96x° — 128x% + 50x — 6
(2x+ 2)(3x% + 5x+ 4)— (2x — D(5x— 5) (6x+ 5)(x% + 2x + 6) — (5x — 5)(4x + 2)
6x° + 6x% +33x+ 3 6x> — 3x% + 56x + 40
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